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AN BREFHHEORY

woa # (M) T %= ffi ¥ (M) HEBMEEZE (M)

LB G 149,914,600 136,286,000 (A) 13,628,600
PAY i o 151,754,900 137,959,000 (B) 13,795,900
LBYEER & 148,170,000 134,700,000 (©) 13,470,000
EHEALH 149,988,300 (F) 136,353,000 (D) 13,635,300 (E)

A 1,818,300 1,653,000 165,300

CHEN)

(B) X (C) +(A)=(D)
(D) X0. 10=(E)
(D)+ (E)=(F)

<K DONIETHLED----BHITOHET>




& EHPEREEEN ER SIS No. 1
RETERA BHELE
34 L Y P i%;-
® H wo = g B B S g EE B o | =OVERE W
BEETEE
1| #sEr=s = 82,664,992 X 84,062,522 1,397,530 %R
II| EXREE LIS FaV 6,059,410 = 6,059,410 0
I HMER (R T3 Fay 18,248,930 Y 18,248,930 0
HiETEEZ 106,973,332 108,370,862 1,397,530 H9%H
/\J\é%
1| Homieaks: FoV 4,015,581 = 4,047,315 31,734 ﬁﬁ
| Bl sy = 9,736,049 2y 9,800,629 64,580 \HE%H
| —EEE =X 15,561,446 = 15,741,183 179,737 ¥4%A
B EE 29,313,076 29,589,127 276,051 H4%E
&5t 136,286,408 137,959,989 1,673,581 H4%H
R EHaRE (T M) TH M 0ET 136,286,000 137,959,000 1,673,000 H4%HE
THE B S5 13,628,600 13,795,900 167,300 H4%H
WwaeEH (ILEH) 149,914,600 151,754,900 1,840,300 H4%H




£ EHPEREEEN ER SIS No. 2
RETEEAT RETEE®
iR

8 H wo = g B B S g EE B e | ZOERE WE
I |BETSE
Al [EEBMY S TS 1 = 22,738,623 1 =& 22,738,623 0
A2 BB EE B FKESE TS 1 = 31,140,606 1 = 32,538,136 1,397,530 848
A3 B LS E TS 1 ==® 5,092,321 1 =& 5,092,321 0
A4 | R B HEN s T 1 = 23,062,054 1 = 23,062,054 0
A5 [AME R OO T % 1 = 631,388 1 = 631,388 0

&5t 82,664,992 84,062,522 1,397,530 H4%E




& W EHPEREEEN ER SIS No. 3
RETEEHI REtEHEE o
# H wo = g B B S g HE B o | =OVERE WE

Al |BEEEMIBHETS
Al-1 | B T % 1 KX 518,160 1 &K 518,160 0
Al-2 | B s TEF 1 = 6,224,202 1 =& 6,224,202 0
Al-3|NER ks T3 1 KX 5,101,428 1 &K 5,101,428 0
Al-4|B¥EkETHE 1 = 667,359 1 = 667,359 0
Al-5 2=y O ZDfth T3 1 = 7,682,330 1 = 7,682,330 0
A1-6 |1 55 1 = 2,545,144 1 =& 2,545,144 0

N3 22,738,623 22,738,623 0




& W EHPEREEEN ER M IE No. 4
RETEEHI REtEHEE
. - iR

8 H wo= g B B S g EE B o | =OVERE W
A2 |EBENE- B EHKSiE IS
A2-1 | B T % 1 KX 5,403,241 1 &K 5,403,241 0
A2-2 | s T 1 = 998,435 1 = 998,435 0
A2-3|4hEE R FifE T 1 = 23,064,729 1 = 24,547,659 1,482,930 H4%E
A2-4 |3k iE T H 1 = 502,640 1 = 417,240 -85,400 JEH
A2-5 | FDfh T3 1 = 182,378 1 = 182,378 0
A2-6 |2z a0y E 1 = 989,183 1 =& 989,183 0

NS 31,140,606 32,538,136 1,397,530 H4%E




% W EHPEREEEN ER SIS No. 5
RETEEAI REtEHE N
8 H wo = g  Ef B S g EE B e | ZOERE WE

A3 |EEEZENETISE
A3-1 | B T % 1 KX 102,176 1 =K 102,176 0
A3-2 | B s T 1 K 1,974,164 1 =& 1,974,164 0
A3-3|NERkfE T3 1 KX 1,474,712 1 =K 1,474,712 0
A3—4|azy b R OO fth TE 1 = 1,416,361 1 =& 1,416,361 0
A3-5 | ALy 1 KX 124,908 1 ==K 124,908 0

/NEt 5,092,321 5,092,321 0




% W EHPEREEENER SIS No. 6
RETEEAI REtEHE N
® H wo = g  Ef B S g HE B e | ZOERE WE

Al | BZER 6 NEE - BHERNSPRELSE
Ad-1 | EH R T % 1 KX 833,370 1 =K 833,370 0
Ad-2 | B s T 1 = 8,208,014 1 =& 8,208,014 0
Ad-3 |NER k& T3 1 KX 1,641,292 1 =K 1,641,292 0
Ad—4|azy b R O Ofth TE 1 &K 10,620,875 1 = 10,620,875 0
A4-5 |1 ALy 1 KX 1,758,503 1 =K 1,758,503 0

/NGt 23,062,054 23,062,054 0




& W EHPEREEENER SIS No. 7
RETEEAI REtEHE N
& H A Y AT 28 | mBE  HE HE o | =OVERE W

AS INERUVZDTE
Ab-1 B T % =Y 21,472 oy 21,472 0
AS=2 | HR IR & = 173,076 = 173,076 0
A5-3 |2y K VO T 5% = 436,840 = 436,840 0

/NEt 631,388 631,388 0




